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Wﬂ@ﬂm / General Intelligence Test
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In Rathore family Gajendra Rathore is the owner of house. He is married to Puspa, Puspa
has two children and their names are Sneha and Raman. Bikram has married to Sneha and
Radhika is Raman’s spouse. Neha is the only girl child of Sneha and Radha is the only girl
child of Radhika. Aman is Radha’s only brother.
How is Puspa related to Neha ?

Grandmother

S2.
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In which answer, the figure will complete the pattern in the following question figure ?

S| e

AN\
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Study the following passage carefully and answer the question :
There is more bad news on food front. It now appears certain that there will be a
shortfall of about 9 million tonnes in the food production in the current kharif season, which

5 - KK2




in turn means 5 million tonnes less than the production achieved in the last kharif season.
However, rice procurement may only be partially affected since West Bengal and Andhra
Pradesh have had sufficient rainfall while Punjab, the major contributor to the central pool is
less dependent on rainfall. Still, the overall availability of rice may go down by more than
four million tonnes. There may be worst news ahead.
Western countries have well equipped laboratory tests to detect rabies

Data inadequate
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Primary education in Bihar is in a poor shape: Pupils in"qve‘r 50 percent of the schools read
in the open throughout the year. Over six million children born to lower income group
parents remain Unlettered. Not even one" percent. “of the 63,000 primary schools have
facilities of furniture, toilet, drinking water and games. 3113 new teachers have been
appointed in the current financial: year out of which 2747 are women. Now each of the
13,270 primary schools have ableast two teachers.

Classrooms of most of the primary: schools in Bihar are inadequate.
If you think the mference is probably true’ though not definitely true in the light of

the facts given.."
55. ﬁﬁmﬁ#aﬂ@mﬁm@aaﬁﬁa
3. amER N 4w
305,14, 2

“Arrange the words given below in a meaningful sequence :

4./ 1., Presentation 2. Recommendation
8, Arrival 4. Discussion

‘5. Introduction

3,5,1,4,2

56.

§1 Y651 oh! AUIIshY H ST i 3T HE F1eg WS
Quality, Quick, Quiz, Quarter, Queen
Queen
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Arrange these words in alphabetical order and find the middle word :
Quality, Quick, Quiz, Quarter, Queen
Queen -
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e fow e e 37K AT Y ue ST TE ST ¢

341 e 9T H PRODUCT ! fohe Wt foran st 2
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Read the given below Question and statements and choose the correct answef :
How is PRODUCT written in that code language ? ;
I.  Ina certain code language, AIEEE is written as BJFFF.
II. Ina certain code language, GYPSY is written as FXORX:
If data in both statements I & II together are necessary to answer the question.

58.
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FEI HE W § S P eg eu M E
Ife klaplac =1 GO filmy holiday
placrick T GO holiday beach
rickrum T 378} % beach perform
rumkla T 379 & perform filmy
forar vrse w1 31k ¢ ‘perform athletlcs” '&Pf ‘GIWT % 7
rumstrow .
Study the following mformaglon car@fully and answer the question given below.
Here are some of the.words transIated from an artificial language :
If klaplac means ﬁlmy hohday
placrick meansholiday beach’
rickrum means beach' perfcrm
rumkla means perform filmy
Which word could mean “perform athletics” ?
rimstrow’

59.
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#1:00 A.M.

. Imagme that your watch was correct at noon, but then it began to lose 30 minutes each hour.

It now shows at 4 P.M. but it stopped 5 hours ago. What is the correct time now ?
1:00 A.M.
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From the given answer figures, select the one in which the question figure embedded. _
Question Figure : £

Answer Figures :

61.
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In the following questlon,"chobse fhe correct water-image from alternatives (A), (B), (C)
and (D) for the ﬁgure (X) @ :

&)

62.
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<48 x 6)4

w32

“If+ means —, x means /, — means + and / means x, then find out the answer of the following

question :
(48 x 6)/4
32

63.
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94

If ‘when’ means ‘x’, ‘you’ means ‘+’, ‘come’ means ‘-~ and ‘will’ means ‘+’, then what
will be the value of “8 when 12 will 16 you 2 come 10 ?
94

64.
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To the following question four probable answers have been given. Select the most
appropriate alternative as the answer. ‘
Your maid has invited you to her daughter’s wedding. You would-

buy a gift for her daughter and help in wedding.

65.
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To the following question four probable answers ‘have been given. Select the most
appropriate alternative as the answer.
If you are a manager and one of your employeeams not workmg properly, as a manager you
would

talk to him and try to find out his problem

66.

FTTTREd STehT] <l U aﬁtwﬁsﬁﬁqmmwm%
TS qTeh H aé‘f@a@% | 9 B T Y % &9 § IR o s § | Frem <D2 HY Al
D4” hgal ® f&h “take your shoes out”. | ot fTm “B2 A1 C1 A4” & % 6 “take instant
right turn” | $56 a18 f=m “@3:R1 D2 C1” h&am & 6 “jump on your turn” | 37 ¥ fem “B2
D4 K2 C3” =gal & T jumiprout Thstant again” |
‘take right move’ % %K{H‘ﬂﬂg?l HiS @@I I
Al F1 A4 M 4
Read the fo llowmg information‘and answer the question given below it :
A few kids areplaying in a park. They make four rules as a part of a game. The rule “D2 H9
Al D4” states that the;garé'on would stand up and “take your shoes out”. Then the rule “B2
Al C1 A4” states to ‘‘take instant right turn”. After this the rule “C3 P1 D2 C1” states that
“jump on.your turn’’ Finally the rule “B2 D4 K2 C3” states “jump out instant again”.

Find the possible code for ‘take right move’.
A1 F1A4
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‘Which of the following statements can be used to take a decision on this problem ?
What is the product of two natural numbers X and Y ?
Problem cannot be solved.
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a. a‘féz%l

b. TR
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In the following question, the main statement is followed by four sentences. Select a palr of
sentences that relate logically to the given statement. ]
Statement : Either the train is late, or it has derailed.

a. The train is late.

b. The train is not late.

c. The train is derailed.
d

The train is not derailed. A \
be
69. TSI, ®H, T, giat, dT, 3, faee 3 fore, maﬁl@—@%mﬂﬁqﬁmﬁ%ﬁ% |
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Ug
Pooja, Queen, Rohan, Suresh, Teena, Umang, Vlvek and Willa, eight friends are seated in
circle facing each other. Vivek is third to the right of Queen and second to the left of Rohan.
Queen is second to the left of Teena and immediate right of Suresh. Umang is between
Queen and Teena. Pooja is not ai; the leﬂ of Rohan. Who is sitting to the immediate right of
Willa? &
Rohan
70. W, HIR, TS, G, G, 31331 awaﬁtaﬁﬁqaﬁmﬂﬁé%% 3T g Rl T GE HEH S & ;
1. W, gﬂﬂﬁaaﬁﬁ@wm%sﬁrﬁm 3 50T <Al TSIt R |
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3. =%, SR TS R |
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Parcs;h nQa.Slm, Ramesh, Suresh, Tushar, Umesh, Varun and Wasim are sitting round the
c1rcle and are facing the centre :
: 1 Paresh is second to the right of Tushar who is the neighbour of Ramesh and Varun.
*“Suresh is not the neighbour of Paresh.
37.""' Varun is the neighbour of Umesh.
4. Qasim is not between Suresh and Wasim. Wasim is not between Umesh and Suresh.
Which of the following is correct ?
Qasim is to the immediate left of Wasim.
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10 Hiex, I
Point A is 30 m to the east of point B. Point C is 10 m to the south of point A. Point D is 15
m to the west of point C. Point E is exactly in the middle of the points D and F. Points D, E
and F lie in a straight line. The length of the DEF is 20 m. Point F is to the north of point D.
Point G is 15 m to the east of point F. How far and in which direction is point G ftom point
A? '

10 m, North

72.

Frforfet el S SR h ST U TR T IwG o,
e Fiffrm wifed s , PR
351 97 3 N/
? o1 319 g ufgem
& b1 31 B 3T
/ <hT A & eftaur
e H&aﬁa@wmmﬁrﬁmaﬁﬁmﬁwﬁmﬁﬁl
IETEW o ferg,
&! 1 31 & I
/1 ¥1 31 g <o
@mﬁrﬁgxﬁwm%ﬁt@ﬁ :ﬂ‘maa?n‘% | 201ﬂaaﬁ?§la$aaﬁ%:m,agm
et 8, 3T 20 Hiew e &, R Se S geaT &, 37 15 whet s &, I wie 78 a1 gear §
3R 15 Hiet SR =@ g | mmwﬁﬁmﬂaﬁaﬁmﬁaﬁ(% ?

/ &/
Study the following mformatlon carcfully and answer the question given below :
In a certain coded language,
! means East }
? means West 3
& means North
/ me;aus Soubh
thef If two symbols are given simultaneously, then we will consider both the directions.
For! exampie

 &! means North-East

%/ /V'means South-East

| "i"'—:}@}-man starts from point X and moves towards east. After walking for a distance of 20 m, he
takes a right turn, and walks for 20 m, then he takes a left turn, and walks for 15 m, after

that he takes a right turn and walks 15 m more. In which direction is the man facing now ?

/
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Select a suitable figure from the Answer Figures that would replace the questlon mark:
Problem Figures : vy v
é? w 7 ‘
Answer Figures R
Flal < sl e
M @ @@ 06
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Aircraft : Transport : Newspaper ?
Media A9

75

ﬂ%ﬁqmwﬁ@maﬂ(w@:ﬁ%awﬁqw%lquaaw%%wmﬁﬁ
f&mwé‘ammw%ﬁ%mmét
T, Pﬁ%ammfﬁﬁ% *
.
L M, Pwﬁ%aﬁw Paﬁraeq%l
I P SR B % o & g & R o B s S
11 373heTT I & e 1 Srhell waiw T & |

Questlon below consists of a question and two statements given below it. You have to decide

whether the data provided in the statements are sufficient to answer the question :

TN Questlon How is J related to P ?

S_téitements -

I. M is brother of P and T is sister of P.

II. P’s mother is married to J’s husband who has son and two daughters.
IT alone is sufficient while I alone is not sufficient.

76.
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T 9 Ig TR e
In the following problem, there is one question and three statements _I,'::f}II ~and III
given below the question. You have to decide whether the data given 1n the ‘statements is
sufficient to answer the question. Read all the statements carefully and find which of the
statements is/are sufficient to answer the given question.
How is the man in the portrait related to Jignesh ? :
I. Pointing to the portrait, Jignesh said, “He is the faj;her of my mother s only grandson”.
II. Jignesh is the only child of his parents.

III. Pointing to the portrait, Jignesh said, “He s the only son-ln—law of my father”.
None of these
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Shlpping business is quite dirty. Burning heavy fuel oil, shipping industry produces 13% of

_the Wgrld s Sulphur emissions and 15% of its nitrogen oxides. And by 2050 ships will be

producmg 17% of all carbon emissions if left unregulated, according to research by the

" Europeéan Union.,

™ “Which of the following, if true, weakens the argument in the passage above ?
““:1. . Shipping accounts for only around 1.2% of global carbon emissions.

1. Demand for low-Sulphur fuel oil and marine diesel is expected to reduce in 2020.

III. As per rules brought in by the International Maritime Organization, the United Nations
agency for shipping, ship owners have installed equipment to clean the dirty ballast
water their ships suck in and discharge.

Only I and IIT
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TerCre b Bt @ | e i waw fewrd & ¢
3:36 pm
It is between 3 pm and 4 pm and the distance between the hour hand and the minute hand of

clock is 18 minutes spaces. What time does the clock show ?
3:36 pm

79,

21 RET, 1987 <! UHTE Bl bl @1 fe o ?
HHER

What was day of the week on 21 September, 1987 ?
Monday

80.

mwwﬁﬁmwﬁaﬂn@ﬁrmﬁ%ﬁamﬁ%ﬁmm wn%@aa:@%
ST 3Tfereh TeT-37@ T =T(8Y |w%m%awaaﬁiemaﬁﬁmm%mm
il 35 wer st o i st R TR € &1
Tfeee 3ol g W Ui hidl © :

3T ey fet 1, mwmmaﬁaﬁmmﬁml

The basic principle to expand your business 1§ that the company should be more service-
oriented rather than focus only on the productlbn “This requires the active participation of
the managers with the other people rather than just working on the products and the
assemblies. ;
The passage well describes: —

In the upcoming days, the most needed factor will be interpersonal skills.

81.

o, [ TmIV,2 978563 |36| 19] 16| 04|09
=y [978s|63[36]19]16]09] 04

@ﬁgﬁmwwmﬁﬁmm% A Fo Tt =1 ITe B 5T 3% T ORI s
ﬁgﬂsﬁa@ﬁm% |mﬁ%f§¢mw%mmﬁw—aumuﬁm
sz |85]16]3604]19]97]63]09
= 1: 97|85/ 16[86| 04| 19|63 ] 09
T, |97 [85(63 | 16]36 [04{ 19|09
A= |97(85(63|36(1604/19]09

(T 3ge ° forq =R v aifam <o 1)
faw T e o forg frerferfiaa # & <iw & Sifem =wor g ?
e -03 31 43 22 11 09

v
An electronic device when fed with the numbers, rearranges them in a particular order

KK2
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following certain rules. The following is a step-by-step process of rearrangement for the

given input of numbers :

Input : 85 16(36|04(19|97(63|09
Stepl: [97|85|16(36|04[19|63 |09
StepIT:{97(85|63|16(36(04|19{09
StepITI: {97 (85|63 (36|16 [04|19]09
StepIV :[97|85(63(36(19|16|04|09
Step V :{97(85(63(36(19|16|09|04
(for the given input step V is the last step). :
Which of the following will be the last step for the given input 7.
Input:-03 31 43 22 11 09
A\

82.

P S 3 et T T & S 96 e % g P e, € | Frepl 1 g o
ﬁuﬂaﬁ%ﬁqmﬁﬁﬁﬁéﬁqmwwa@ﬁ@mmyﬁqﬂqum
T Y IO HATR |
HY : @@ﬂaﬁ%%ﬁ;wé@ﬁﬁaﬁ&mw%aﬁmﬁﬁﬁwm%l
frend ;
I. @%Wﬁiﬁﬂﬂ@ﬁ?ﬁ‘ﬁﬁﬁ@éaﬁ%l
1L. mﬂﬁﬁﬁuwm%l
aﬁaﬁqﬁlmw%l

In follo_\ymg qpestlon statement is given and the statement is followed by conclusions. Read the
conchlslonsand then decide which of the given conclusions logically follows from the given
"s'téi@ﬁ%nt;‘“‘gﬁsregarding commonly known facts.

,:Stat'éflient. : Some people say that bad thought comes to their mind when they try to sleep.

. Conclusions :

I Only few people see bad thought while sleeping.

II.  All good thoughts come in the morning.

Only conclusion I follows.

83.

U 3fie 1 AR X, Y 3t Z § few e alies & wier e & 3% u= femen e | aTuen!
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ﬁmﬁﬁwﬁrﬂ%mwm(@aﬁm)%%mﬁ@ml

i g i it
| f o O
7 \
\ o T
Ngr® et
X Z

o o

A sheet has been folded in the manner as shown in X, Y and Z respectively and punched.-
You have to choose from the alternatives how it will look when unfolded.

7 A
\ £ 0O © p
7 \
\ S N
X Z
o ©
o o

84.

50 BT <hY T HET H, 18 HIL T 4, 26@%&%@12@@1%@@%% | e 7 feRe

BT A1 Y T AT HHATE A 8 ?

8 8
In a class of 50 students, 18 take Computer, 26 take Sanskrlt and 2 take Computer and
Sanskrlt How many students in the class are nof; enrolled in either Sanskrit or Computer ?

85.

ﬁﬁ%ﬁﬁ@ﬁﬁmm@@maﬁ%mmﬁmmﬁ@mﬁm%
e e, 3w, et e \

69

Choose which of the followmg dlagram represents relationship among the given elements in
a much logical way : il VW
Sports channel, ten sports; neo sports4 i

b
.E —)

P,
Y

86.

mﬁaﬂaﬁ‘ﬂiﬁﬁﬁqnﬁwﬁsﬂz (V) & o Sied & T+ 8 |

(\.)

"'@

(a) ®» @ W@

() 3TN ()

J ; 008€° fﬁe box that is similar to the box formed from the given sheet of paper (V).

@'@ﬂ

(@) (€ (@
(c) and (d) only

87. Tr=fefad Serd @ ufeu afit 3o i for e g9 w1 s e
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ufe ot & - afem, e, mifed, IEs TR s |
aftr, U B Blel 8, SIfeh Ve & & 8 |

e aod TR |

FEST, HOTTeT & gl B SR AR & T dn @ |
I W T Hfeh Wi & iRl i 8 7

A
Read the following information and answer the question given below it :
There are five friends - Sachin, Kunal, Mohit, Anuj and Rohan.
Sachin is shorter than Kunal but taller than Rohan.
Mohit is the tallest.
Anuj is a little shorter than Kunal and little taller than Sachm
Who is taller than Anuj but shorter than Mobhit ?
Kunal

88.

2 fow T g9 T weh e B, ﬁlﬂ%ﬂﬁﬁﬁ%lﬁﬂlﬁ&ﬂ%lmmm%%ﬁm/ﬁ

T T @b 2 /% |

HU : ww—ﬁmﬁmaﬁﬁaﬁtéﬁaﬁﬁwwﬁﬁﬁ‘mma@maﬁﬁ

mﬁmwwm%m%ﬁ?ﬁamﬁwﬁtﬁ ?

& -

L ﬁ@ﬁm&mwwmm%éﬁﬁﬁwﬁmﬁﬁﬁm%l
ﬁﬁ%ﬁmmwﬁﬁ%ﬁﬁﬁ@ﬁ%ﬁé@wﬁ
STl & |

Jead@ 3T & HW‘EI

In the question given below Statement is followed by two arguments I and II. You have to
decide which of tli’e arguments is a ‘strong’ argument :

Statement : Shouldparents educate both their daughters and sons equally or the sons must be
made more_educatcd s0 that they can help in financial matters of the home ?

Arguments &

I. No, sons_ must be made more educated as they are more intelligent than daughters.

_ Sons must be made more educated since daughters get married and go to another place.
T Y H‘neither I nor II is strong.

89,

mmmaﬂwﬁq% | 3T & T o 91 IGeh! 311 12 oY Uget i 31y hi g+ & st |

259

'Today is Varun’s birthday. One year from today he will be twice as old as he was 12 years

ago. How old is Varun today ?
25 years

90.

TR & TS STl 3 e Tehet YT G & 7




12
How many total triangles are present in below given figure ?

12

01, TreIforRad 5w & Ueh hei % WG G % 198 7Y § | JATUeh! I8 ¥ shieTl & foh I § bt ©1/H
Teh ToTgd 8/% |
:i;ﬁ: T Hientl & foru el Tt s SIS B =Miey ?
I &, I8 TSl SHRATS 1 HH BT N =eror 3 fore BreHe 8mm |
IL &, 3g Sfshan aresit 3R Werr g g | R\
1 30 11 Qi FeTe € |

Following question consists of one statement followed by two arguments. You have to
decide which one of them is stronger. 4 =8

Statement : Should all government work for job mustbe online-?

Arguments : A R ;

. Yes, this will reduce paperwork and beneficidl for environment.

II.  Yes, this process will be transparent ahd corruption free.

Both I and II are strong. \
ST bl U 3T AT oh ST :
(3.9, 92 TG 93) : 378 HeshHi- M, N, O,P, Q, R, S 3K
i 43 &, Sfop Sdt T o6 S SRAH B | I & Th 1 TH T U & I o - B
afm, <P, e, ae e g ofigy, ford aetreehR S ey frow | M el eI 6
27 A R T AT R | Ve eueh. 3T % sl Sheret ) AR 93 & | oy IS 3R -

TRa Freean weid § | 7 A M T argw WRde @ soeh-afe # | oy afee, ey Ty

1 Torepea TeiE el 81 BOR, ‘Q’ IR A T WM WEST B | “Q’, ‘T’ &1 Fehean TS T 2 |
R 77 et 37 Feher SemesR e o1 e TS § | forcfiar Tereshi N o gl A e v
T B | N AR TRISE T &1 ©O” S % e g 9BT B | M =IUH T R | R, M H
fepean TS TE 7| S’ RS o1 ferean TSrf T B |

Read the following information and answer the questions :

(Q.No. 92.&.93) : E_i‘ght colleagues- M, N, O, P, Q, R, S and T are sitting around a circular table
facing the center but not necessarily in the same order. Each one of them hold a different post -
Manager, ‘Company Secretary, Chairman, President, Vice-President, Group-Leader, Financial
Advisor and Mariaging Director. ‘M’ sits third to the right of Managing Director. Only two people
sit between, the Managing Director and “T”. The Vice-President and the Company Secretary are
immediate neighbours. Neither ‘M’ nor “T” is a Vice-President or a Company Secretary. The
Vice-President is not an immediate neighbour of the Managing Director. The Manager sits second
to the left of ‘Q’. ‘Q’ is not an immediate neighbour of “T’. The Manager is an immediate
neighbour of both the Group-leader and the Financial Advisor. The Financial Advisor sits third to
the right of “N”. ‘N’ is not the Vice-President. ‘O’ sits on the immediate right of the Chairman.
‘M’ is not the Chairman. ‘R’ is not an immediate neighbour of ‘M’. ‘S’ is not an immediate
neighbour of the Manager.

KK2 18 ﬂ




92.

& 18 SR % R W et ww § § i v e ales @ weE § ST 56 TR U
e S | TR R 3 AR & i TR 7

N - sreier e
Three of the -following four are alike in a certain way based on the given arrangement and

thus form a group. Which is the one that does not belong to that group ?
N - Managing Director

93.

A 7T 3% R % TEY I Frefeiad § U S W a8 7
SO % ST Teiy IS o Teehiet o1 SR 954 § |

Which of the following is true with respect to the given seating arrangemén‘t ? .
The Chairman of the Company sits to the immediate left of Managmg Director.

94.

TR T2 3 I UTehiA |1 &R 3T 2

J
P
()

oo
=o o= s

I
What letter will come in place of question mark ?
H
D
E

—y

L
J
P

-~ "

I

95.

ﬁnﬁ%ﬂmﬁ@mmﬁmw%ﬁﬁma Wﬂ@?ﬁﬂi%l el Iy farehed o fafga
B
HY : aﬁq@ﬁ%mﬁv‘vﬁﬁ%ﬁéwﬁwﬁml
oo 1 ; foeeft i s gerell @ R gud |
T 11 : el & S S fore i o e T R |
ST J SR & 1
One statement is given in the following question followed by two assumptions. Mark the
most.appropriate option :
Statement : Go by airplane from Delhi to Chennai to reach quickly.

_ Assumptmn 1 : Delhi and Chennai are connected by air services.

AssumEﬁO“ II : There is no other means of going from Delhi to Chennai.

/4. \Assumption I is implicit.

926

e gy e ————

8585858585855858558885885888585885885

14
How many 8’s are there in the following series which are immediately followed by 5 ?
8585858585855858558885885888585885885

14
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97

T e ST STTET L gY, 11 & T8 @l oh o1 TH T 1 shifg :
16, 48, (7), 72, 36, 108, 54, 162, 81 '

24
Find the missing number for below given series following the same logic :
16, 48, (?), 72, 36, 108, 54, 162, 81

24

98.

ST T, e U 18 1T 8, Tooh TG A 1okt 1, T1 31 I11 g T ¥ | 3TToeh 96l shl Yedl HIHTT 2,
ol 8 S ww ae O e el B &l Immm%%mmﬁwﬁﬁﬁﬁqmﬁﬁﬁﬁ
R T SRR T ST AT & | ST IR 31 = |
HYA
perel o I FoherTe § | P
L ¥ e abeR T R | \ Dy,
1L ﬁs‘wﬁmﬁmqﬁf%t Ay N |
maﬁnmmengamﬁm%\

In the question, some statements are given, followed by three conclusions I, IT and III. You
have to consider’ the statements to be true, even if they seem to be at variance from
commonly known facts.-You have to decide which of the given conclusions, if any, follow
from the gtvén statements. Indicate your answer.

Statements Bt

Onlyfew papers are books.

: (Some beoks are e-books.

\ Y LAl e-books are magazines.

“:Conclusions :

1. No book is magazine.

II. Some magazines are paper.
III. No magazine is paper.
Either II or III follows.

KK2




w915, 99-100) : Fr=forRa SIFehTd <kl SF 8 7 ST feE e Sl o It e :

L

II.

II1.

Iv.

HABEP,Q,R,S, T, U3 V3 S E |

fepegl ot Q) BTl Bl TWT 37e T freTd & |

VWP@WWWW%|

P gHIM Q@raﬁ%aﬁsmm% |
maﬂmamﬁﬂa@rmmmﬁﬁqaﬂwﬁwﬁwmmmmﬁam
Y S 3 T e 37 T b SR U A Qﬁwﬂmwmmi

Direction (Q. No. 99-100) : Read the following information caréﬁih? and answer the questions

that follow :

15

Seven students P, Q, R, S, T, U and V take a series of tests. |

II. No two students get similar marks.

III. 'V always scored more than P.

IV. P always scored more than Q

V. Each time either R scored the hlghg,;t and T gets the least or alternatively S scores the
highest and U or Q scores the Ieast *

99, :rﬁvsmw:rmam% fﬁ'ﬁﬁ%ﬁqmmaﬁmaﬁq?

ssaanwﬁtw% |

If V 1S ranked ﬁfth which of these must be true ?

S scores the highest.

100 aﬁRﬁmmﬁmwﬁﬁ%% Al V 1 o 368 B T8 g =R ;

e

IfR gets the most, V should be ranked not lower than

fourth

21 3_: KK2




AT-3/Part-3
M TSI / General Awareness

101.

forrforfa T & S ST HETCT S 7 % ST aftie o St Sl TR Hidl & ?
Hrendl voEe

Which one among the following museums showcases life of Tamils during Sangam age s
The Keeladi Museum

102.

Freferfiaa 8 fre wrdle geum A %w%maﬂta@ﬁ%mﬁﬁﬁwﬁ%ﬁmm
feanfrder il fepan & 2
arsEErAR (e Ffepea arEeT aig)

Which one of the following Indian Institutions has released “Eth1cal Gmdelmes for Al in
Healthcare and Biomedical Research™?
ICMR (Indian Council of Medical Research)

103.

W 1 et (FbFre sfeeafed st [Voc (v ereemgde Oostindische Compagme)] Eq|
e Freferiiae o & fopereh grn femerm R e ?
=X

The VOC (Vereenigde Oostindische Compagme) n, Ind1a was formed by which of the
following ?

Dutch

104.

Rreefieeer & 3119 Fa1 G & 7
g 9 Wit 1 o | |

What do you mean by Silviculture 7
It is a science of forest farmmg

105.

ﬁmﬁaﬁaaﬁﬁﬁmwmﬁéas%maﬁmﬁﬁwﬁwgﬁwﬁwﬁﬁ%ﬁ ?
U]
The East India Company was glven permission to trade duty fiee in Bengal by which among
the following Mughal Emperors ?
Aurangzeb

106.

ﬁnﬁaﬁgﬁ@rﬁwﬁwﬁﬁrﬁwﬁmﬁﬁﬂaﬁ%ﬁm%—%ﬁw%m@mﬁ —fergar
ﬁmﬁwmﬂ%? B

Whlclg among the following is the highest peaks of the Western Ghat that is also the

UNESCOHWorld Heritage Site with rich biodiversity ?

Anamudl

107,

x‘é’mz‘tﬁ Wﬁﬁwmﬁmmﬁaﬂw&@xﬁwmﬁm%ﬁw

HT ¥ RIU “Sier Tgq”? TWe §1¢ Tga I SRR R, T8 srarmg I@m TS 6l

N e S 78 . Ao e 71 01 7

qa=g
Recently, Indian Army conducted flood relief exercise named “Jal Rahat” to validate joint
drills and coordinate preparedness by multi-agency flood relief columns, this exercise was
conducted on which of the following rivers of Assam state ?

KK2
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108.

eI 3 et 200 T wiel aes] e SR obt AT e & R TrERry et e R g ?
et

What is the name of the World’s first 200-metre-long Bamboo Crash Barrier which has been
instailed in Maharashtra ?

Bahu Balli

109.

mﬁﬁmﬁwﬁ@w%mn—a-@asﬁm(MMA)ﬁmmwﬁ%ﬁmﬁmﬁﬁﬁﬁ
3 form 3 & Ty AR 61 8 7

Teell

Recently NASA has partnered with which one among the fo]lowmg countries to launch
Multi-Angle Imager for Aerosols (MAIA) Mission ? v

Italy

110.

;qsnaﬁ ﬁgaﬁmmww%,aﬁmﬁw%ﬁmﬁﬁmﬁ%ﬁmwﬁﬁ%
;
ghamn

“Banawali”-a major city of Indus Valley Cwﬂlzatmn 15 presently located at which among
the following states of India ?
Haryana

N,
= _\

111.

m@ﬁnﬁﬁmﬁnﬁﬁ%ﬁt@r?ﬁaﬁ% ?

BPS
The speed of Modem is calculated by whlch among the following rate?
BPS

112.

FoL TR D % Y o} SIS 8 t.sf'
Kullu valley is also knowri'é’é-'- .,::151"
Valley of Gods ~ . b % 7

113.

ﬁwzr%rﬁaaﬁ@rﬁqmqfﬁﬁﬂﬁ% ?
HEENRS) I

Which of the followmg 18 not a defect of vision ?
Persistence of Vision

114.

TARL (ATl St Srgeierm georr) ¥ Frfofea o & fhe wret o o1 HiY foRH HeAT”
am‘m%mr
718 Rt

"':’IIn which among the following cities did IARI (Indian Agricultural Research Institute)

9 .~ organize “The Pusa Krishi Vigyan Mela” ?

- New Delhi

115.

o et 1 T SR A, e S e & Pt T e 27
R

"Madhubani', a style of folk paintings, is popular in which among the following states of
India ?
Bihar

23. ‘ 9 BhED | KK2




116.

“foree Ugd QepTeRtl e wedieh o R erfaa o & fere T wmn ST ® ¢
18 1§

“World AIDS Vaccination Day” is observed on which among the following days every
year ?
18" May

117.

et Merehiet trererRad o & fored waftre 8 ?
AN 9 TS

Montreal Protocol is related to which one among the following ?
Ozone Layer Depletion

118.

Ww%ﬁmﬁiﬁaﬁﬁ%ﬂmﬁ%ﬂ?ﬁ!ﬁaﬁmmmﬁwﬁ%ﬁm ”ﬁ%@'l‘ﬁﬁ?ﬁ
TR A Teh 7§ TS Yo bl @ ?
quTg{ ,,/i‘"

Which among the following cities of Maharashtra state has: staiﬂted a.new mxtlatlve named
“Beggar free city” in order to accommodate homeless people m1ts shelter ?
Nagpur

119.

frfertea & @ %F méﬂqm@ﬂ-mmgaﬂ?ﬂsﬁ TS % TG §, Il
T o b Trferet Sereh Hi 57

<1, g Rig Jea

Which one among the following is the author of the book “India’s Vaccine Growth Story-
From Cowpox to Vaccine Maitri”, who is also.a ¢ivil servant of India ?
Dr. Sajjan Singh Yadav L ST

120.

u@ﬂﬁﬂﬁmﬁmﬁ@ﬁﬁé%ﬁmmm ?

I forgrlt TR TS
The original Indian Constitution was hand written by whom among the following ?
Prem Behari Narain, Ralzada

121.

Treierfea 3 & S g 1 Gl T e SR TiiegH Toile (8 T L STl el HRed R
aﬁtqﬁmémqm%? Y
ey 2t

Who amiong the followmg is the first Indian and Asian skipper to complete the Golden
Globe ] Races fhe longest sporting event in the world ?
" Abhilash Tomy

122. F T i & o “og, VYT 31 AT % &9 H AT M@0 8 7
f—.‘)_-:’ﬂ_Who among the following is known as “The Frogman of India” ?
% Sathyabhama Das Biju
123, TreTfeRaa & O i a1 T et e @ Gt wreel S e e T e Shigd i @ ?
T wha SrfeER
Which one among the following focuses the expeditious disposal of the cases pertaining to
environmental issues ?
The National Green Tribunal
KK2 24 @




124.

“geha” SfaoT W & R o & form Tife w1 §TE Y R R v Uy e wien wied
(YuAsseIaN) GRT HeSs Wi Tite o w9 H o T R Al ?
qremTeet!

“Ikat” is the weaving pattern of which of the following villages of South India which was
also selected as the Best Tourism Village by United Nations World Tourism Organizations
(UNWTO) ?

Pochampally

125.

FraferRaa o & =5 @1 w agfa gm g ?
TRl ~ <ol Toias

Which among the following is an inappropriate pair ?
Khajuraho — Chola Dynasty

126.

frferRaa | @ fore ) me”%mﬁmw% ?
LEIRE]

Which among the following rivers is known as “Sorrow of Bengal”
Damodar River

127.

ﬁmmﬁ%wuﬁﬁmﬁ%ﬁﬁﬁﬁmww% Al
ﬁ%ﬁﬂﬁmﬁﬁm@hm%aﬁ@ﬁaﬁammm%

Which of the following statements is true regardmg Fundamental Rights ?
Fundamental Rights can only be suspendéd during a national emergency.

128.

ehy -t fmfor aaﬁaaﬁwrrﬁw%ﬁﬁr&dﬁgaﬁﬁmwﬂmqém% ?

The earthquake-resistant constructlgi‘n: Dhajp Dewari system is found in which of the
following places of India 7 ©

Jammu & Kashmir

.:\
b,

i

129.

ﬁwwaaﬁammﬁfwmnamwmw%?

Which among the fo]lowmg ports is also known as “Deendayal Port” ?
Kandla Port

130.

i 'kf':

fEfRaa 1 & Rrer 1905 i vier 3 “gfen wreu-Teh o Fawr 6 w6 ot ?
rh o

Who arnong the following established “India House — a student residence” in London in

8 Xegr 1905 ?

Shyamji Krishna Varma

131.

ﬁnﬁ@m@:maﬁrww—ﬂﬁmeﬁ?
g

Which of the following was the capital of Surasena Mahajanpadas?
Mathura

25 3 | KK2




132.

FrRTRad 5 & fopd TM T 1818 T hic. Teieet & a1l T G weell W el e shi e
Y g off 7

FHICTRTC
At which of the following places, the first Indian cotton mill was established by Henry Gouger
at Fort Gloster in 1818 ?

Kolkata

133.

A o gatel wiefceh Wbl # |
TS AR

The highest literary award in India is
Jnanpith Award

134.

frfRaa o & 60 9 srehige & &9 o i THT ST 8 7
AT A
Which among the following is also known as wood alcohol ? &
Methanol

135.

THTES - St (TR R dYE- %WW)%%&W%WWW
TREISHT <Rl SHET ST & :

3-uife
The NABARD pilot project for digitisation of SHG BLPS (Self Help Group-Bank Linkage
Programme) is called as :

e-Shakti
136. ftsidl sish A S 3R mwﬁﬁmaﬁwﬁaﬁqmﬁ%ﬂﬁm%
LIBOR
The Reserve Bank has directed banks and other entities to transition away from which rate ?
LIBOR
137. Frefafaa d o ®m & m%ﬁ%wﬁ:ﬂﬁmmm S T @1 =Ry ?
e Hifer 3 Freres Rigia
Which among the followmg is’ the ideals that a state must keep in mind while framing
policies ? 5
Directive Principles of State Policy
138, TereTeTra STet Fientel o 9 o1 &1 gt ohi Hefdl eauiiel el ehtal & 7
e TS
Which among the following waterbodies is the most Saline waterbodies of the world ?
/5 Gaet’ale Pond
139, WRAZhen -9 STUGRI 11 1e4dl Ueh ol forerTerel Sigiem & |
» D | Wﬁﬁ
B Y The Bharat-Kala-Bhawan is a university museum situated at in Uttar Pradesh.
A Varanasi

140.

%Wﬁﬁqmm%ﬁﬁaﬁam%ﬂﬁmgmﬁﬁ@mmm%?
RIGEQIERE]

Which is a work of Tamil Grammar that is said to be the earliest extant work of Tamil
Literature ?
Tolkappiyam

KK2
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141.

forer T WS (WHO) = g1et 81 1 fobet il <t mrefien wyes srnnforar fepan @ 2
FSST SR iR

World Health Organisation (WHO) certified which countries as Malaria-free recently ?
Azerbaijan and Tajikistan

142.

frafifad § ¥ S 91 WA TR B RCS ASHT % dad WA o Jo-Jell ??HEBTWSFITIﬂ?
hles gaTs ITET 2 7

TR 8T8 TS

Which among the following is the first green field airports of the North- eastem reglon of
India under RCS scheme of Government of India ? . :

Pakyong Airport
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“The Kodava Hockey Festival” was held at which among thé follo‘wing states ?
Karnataka
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Which Article protects a person’s right to travel abroad under Inchan Constitution ?
Article 21 B, ;
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Find the Jovian Planet among the followmg
Uranus
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“One Week One Lab™ theme-based campaign is associated to which among the following
institutions ?

CSIR-NCL (Cmmcnl of Scientific and Industrial Research-National Chemical
Laboratory) -
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"What is the common ingredient in antacid, mild abrasive in tooth paste, a constituent of chewing

. guny and a filier in cosmetics ?

Calcium carbonate
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‘Matki’ is a popular folk dance of which of the following states ?
Madhya Pradesh
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Recently, Aurangabad, a city located in Maharashtra has been renamed. What is the new
name of it ?

Chhatrapati Sambhajinagar
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Which among the following institutions recently tested “CE-20 Cwoggbic _Engine”'_ '

ISRO (Indian Space Research Organization)
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